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mAl | 20144 9H O ORMIQ SUMMME 2EHY
2013.1.1~9.30 2014.1.1~9.30 SUE%)
T oz
=22(E) A=) =2HE) A EH =) =2 =

M ON 493,546.8 990,063.9 535,550.8 1,007,394.4 8.5 18

<M M> 36,555.7 224,225.6 45,083.2 199,875.7 233 -10.9
- Mas 2,163.6 16,288.9 6,260.0 19,368.9 189.3 18.9
-4 X 559.5 2,292.0 645.4 2,509.7 154 9.5
- OIME 794.5 11,5281 805.6 8,336.0 14 -27.7
- 33| & 5.2 96.2 155 167.3 200.1 73.9
- A= 51341 8,925.2 4,853.3 9,363.3 -5.5 49
- HAE 3,5144 6,390.7 3,270.6 6,168.4 -6.9 -3.5
- EfX|2 7| 932.8 1,000.2 698.1 888.2 -25.2 -11.2
-7Ess 16,577.5 17,865.5 13,334.2 19,293.2 -19.6 8.0
- MEIEAS 6,874.2 159,868.8 15,200.3 133,780.7 1211 -16.3

<7} 3> 334,875.8 519,832.3 370,921.2 602,579.3 10.8 159
-H = 8,016.2 34,927.3 9,075.9 33,469.8 13.2 -4.2
- AAE 3,753.0 15,679.9 4,835.2 18,254.6 28.8 16.4
-F B 11,2224 12,750.5 9,537.3 13,500.8 -15.0 59
- XM= 4,555.0 26,587.2 4916.6 39,183.3 7.9 473
-dxE 5116.7 60,255.7 7,193.9 86,377.6 40.6 434
- UHsE 948.2 6,198.2 2,566.9 7,876.9 170.7 27.1
- 2= 49,999.2 21,787.7 43,335.7 23,509.6 -13.3 79

< M> 122,115.3 245,976.1 119,546.3 204,939.3 -21 -16.7
-0 B 90,505.3 170,059.7 82,828.2 119,322.7 -8.5 -29.8
- ANEsE 7,095.3 19,017.5 12,880.5 26,5034 81.5 394
- S5 2,794.0 35,7347 2,404.6 33,401.7 -139 -6.5
- uaE 177.0 2,168.0 334.6 3,886.7 89.1 79.3
- 7| E} 21,543.8 18,996.2 21,098.5 21,824.7 -2.1 149
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1 2014'4 98 Of HEY Ssi4AF sE0E
g 2013.1.1~9.30 2014.1.1~9.30 SLUE%)

T = (E) zHE=2) =E(E) =HEH=2) = =
MOA 125,975.8 312,859.2 133,414.6 334,998.0 59 7.1
<M M> 22,5199 125,056.9 20,681.0 110,141.1 -8.2 -11.9
MAs 119.1 782.5 2,504.9 14143 2,002.4 80.8
RPN 46.8 1715 46.1 189.8 -1.3 10.7
QUAS 684.4 6,639.2 682.1 4,530.6 -0.3 -31.8
237 0.0 0.0 0.0 0.0 0.0 0.0
I S 337.6 887.6 900.6 1,926.0 166.8 117.0
HAS 1,842.2 2,992.8 1,556.0 2,669.1 -155 -10.8
EfX| 27| 54 541 17.2 107.1 216.4 97.7
285 15,4531 16,686.4 13,045.9 18,425.1 -15.6 104
MEREAS 4,0314 96,842.8 19281 80,879.1 -52.2 -16.5
<7} 3> 77,547.0 144,501.2 80,895.4 170,289.1 4.3 17.9
N 1,191.5 7,134.3 1,224.3 4,777.5 2.8 -33.0
EEa— 587.6 29751 869.3 29240 479 -1.7
= 5 929.6 1,803.5 1,321.8 2,278.5 42.2 26.3
| YNI=S 1,466.4 97784 1,068.7 9,672.6 -27.1 -1.1
gxs 2,109.2 34,332.5 3,075.0 52,199.8 45.8 520
HsE 399.8 4,012.2 441.1 4,283.5 10.3 6.8
=PV =S 21,2741 9,396.7 24,327.3 11,518.8 144 22.6
<FE Ak 25,908.8 43,3011 31,8381 54,567.8 229 26.0
o = 11,413.7 22,516.5 12,184.7 23,820.6 6.8 5.8
ANsE 3,982.0 9,873.5 8,234.7 15,3594 106.8 55.6
SIx=& 288.1 1,149.6 266.1 2,3329 =77 102.9
rdpag= 95.2 13171 103.3 917.8 8.5 -30.3
7| E} 10,129.8 8,444.4 11,049.3 12,137.0 9.1 437
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2 | 20141 9% rf AEHAO} SAMUE £5HT
2013.1.1~9.30 2014.1.1~9.30 =212 (%)
T g
= (=) FHHEH =) =H(E) FH(H=) =Y =N

SIS 92,079.7 131,860.0 112,109.0 147,199.6 2138 116
<Al M> 2,139.1 27,1628 13,4183 29,777.0 5273 9.6
Haz 887 8474 149.4 1,150.0 68.5 357
FIRPN 91.1 364.5 100.2 404.8 10.0 11.1
olAtE 9.0 582.5 10.7 335.2 18.2 425
Sl 0.0 0.0 0.0 0.0 0.0 0.0
oAz 384.1 944.9 3275 1,091.1 -147 15.5
HAE 3137 587.6 385.6 7627 230 29.8
EjX| 27| 0.1 23 0.0 00| -1000| -100.0
/==t 0.0 0.0 0.0 0.0 0.0 0.0
Atzleate 1,252.5 23,833.6 12,444.8 26,003.2 893.6 9.2
<7t 2> 81,799.9 95,135.4 92,139.1 108,633.0 12.6 14.2
o = 596.8 1,994.1 731.9 2,615.6 226 31.2
AAE 366.3 910.6 307.5 682.7 -16.1 -25.0
= = 1736 3133 117.2 303.8 -325 -3.0
xR 686.4 1,876.0 8273 2,302.5 205 227
Ax= 93.2 1,048.2 187.1 1,512.3 100.8 443
e 0.0 0.0 0.0 0.0 0.0 0.0
=x2 16,319.2 44316 7,779.1 3,197.9 -52.3 -27.8
< M 8,140.7 9,561.7 6,551.6 8,789.7 -19.5 -8.1
of 2 1,047.5 1,3224 601.8 9234 426 -30.2
AN =2 1195 602.2 2176 963.0 82.0 59.9
e 62.9 1,490.0 57.8 1,978.0 81 3238
Ztzt2 35.2 468.4 8.5 110.2 -75.7 -76.5
7| E 6,875.6 5,678.7 5,665.9 4,815.1 -17.6 -15.2
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3 | 20141 9% [ Wa|E SSMME 22HY
2013.1.1~9.30 2014.1.1~9.30 SUE %)
..
=H(E) FHHE) = (E) FAHE) =% =N
oA 78,661.3 99,950.1 95,7544 113,851.7 217 139
<M M 1,578.7 4,894.3 14724 3,550.6 -6.7 -27.5
MA= 385.8 1,2351 3734 1,559.5 -3.2 26.3
FARYN 69.6 206.6 100.9 291.2 450 40.9
Ol = 54.0 1,941.9 8.2 165.3 -84.8 -91.5
o3| = 0.006 0.09 0.0 0.0 -100.0 -100.0
A= 877.8 1,074.5 910.2 1,197.7 3.7 115
HME 67.1 146.3 52.6 118.2 -21.7 -19.2
SR 7| 9.8 93.8 125 62.8 27.3 -33.0
I2e5 6.9 353 9.5 416 36.6 17.9
MEIEAS 107.6 160.8 5.2 1143 -95.2 -289
<7} 3> 70,893.7 85,616.0 81,671.7 95,210.1 15.2 11.2
H = 2,194.8 10,926.2 2,548.0 10,614.7 16.1 -29
AAE 1,277.2 5,818.5 1,453.5 6,261.4 13.8 7.6
F = 1,082.8 1,794.7 1,609.3 2,692.6 48.6 50.0
niyNE= 709.4 5,036.0 6594 5,195.8 -7.0 3.2
Ax= 628.1 4,088.6 386.3 2,643.7 -38.5 -35.3
L& 154.8 366.3 159.7 321.3 3.2 -12.3
=N ESS 7,084.2 2,649.6 6,662.9 3,068.7 -6.0 15.8
<E= A 6,188.9 9,439.8 12,610.3 15,091.0 103.8 59.9
o 5 3,692.9 5,673.7 10,208.5 11,185.5 1764 97.2
AN=E 1,063.2 1,949.9 1,117.5 1,976.1 51 13
[o]| B =3 141.9 9415 1715 1,144.7 209 21.6
Uzt= 1.5 5.2 254 70.7 1,577.9 1,2574
7| E} 1,289.5 8694 10874 713.9 -15.7 -17.9
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4+ | 20141 9F [ MIIE ESAMME 2EHE
2013.1.1~9.30 2014.1.1~9.30 SZUHE%)
T g
= (=) FHHEH =) =H(E) FH(H=) =Y =N

M ON 38,432.7 87,0329 27,166.9 86,4104 -29.3 -0.7
<A M 3,5584 13,782.5 3,178.5 15,273.2 -10.7 10.8
MA= 960.2 7,616.0 1,169.3 8,976.9 21.8 17.9
FARDN| 1834 850.5 194.8 893.5 6.2 51
olAt=E 10.2 1,268.5 159 1,611.0 549 27.0
131 = 0.8 119 0.7 129 -6.0 8.2
A= 1,238.7 2,191.6 1,252.6 2,491.8 11 13.7
HAE 612.5 1,298.8 4395 799.6 -28.3 -384
SR 27| 0.04 0.1 2.3 24.8 6,237.8 | 24,190.2
Iass 18.5 84.9 445 231.8 140.8 173.2
MEIEALS 5341 460.2 59.0 230.9 -89.0 -49.8
<7} 3> 33,8384 66,416.9 22,572.8 62,904.4 -33.3 -5.3
H = 1,533.0 44127 1,534.6 4,675.5 0.1 6.0
AAE 562.2 1,629.1 834.9 2,601.5 485 59.7
F = 7,687.2 6,267.7 3,919.5 3,597.9 -49.0 -42.6
NipNE= 5249 3,068.8 649.8 5,052.6 23.8 64.6
Ax= 1,076.5 10,636.1 1,372.2 13,083.3 275 23.0
L= 125.0 2594 1994 3925 595 513
=N =S 529.1 1,154.2 1,252.7 1,400.0 136.8 213
< M> 1,035.8 6,833.5 1415.5 8,232.8 36.7 20.5
o & 508.2 1,950.8 1,032.6 2,956.8 103.2 51.6
AN=s= 188.9 2,401.3 136.3 1,568.0 -27.9 -34.7
]| B = 2219 2,026.3 129.0 2,085.2 -419 29
uz2t= 18.2 2245 58.8 1,408.1 2231 527.1
7| E} 98.6 230.7 58.8 214.7 -404 -6.9
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5 | 201413 98 CH LHO|AOF LM E FEWE
2013.1.1~9.30 2014.1.1~9.30 SUE(%)
38
2E) | FUED) | 2E | FUw® | 2y | 39
M 32,352.3 58,134.4 42,195.0 76,162.3 304 31.0
<M M> 2,034.5 7,480.7 2,733.3 8,722.0 344 16.6
N E = 3774 3,101.6 1,069.2 3,538.3 1833 141
Z X 132.6 547.1 128.0 486.0 -35 -11.2
ClarR 20.0 230.0 48.8 1,1253 1435 389.3
o3| & 39 777 45 89.6 152 153
| SS = 671.1 1,159.7 511.0 1,149.8 -239 -0.9
HMAE 678.4 1,363.2 836.9 1,818.7 234 334
EHX| 27| 39 264 15.2 125.2 289.2 3734
28= 3.0 124 10.0 43.5 2355 2517
MEEMZ 1441 962.6 109.6 345.6 -23.9 -64.1
<7l 3> 28,905.6 43,595.7 38,3313 60,621.8 32.6 39.1
i 1,266.7 4,530.5 13721 5,268.8 8.3 16.3
TR 517.0 2416.6 754.2 3,229.7 45.9 33.7
= 5 5174 1,022.8 1,008.5 1,448.7 94.9 416
| NI=S 615.5 4,030.8 1,040.2 10,382.9 69.0 157.6
axE 500.6 229.1 702.2 2,648.0 40.3 1,056.0
HsE 447 74.1 1,687.9 2,165.0 3,677.3 2,820.9
2= 2,790.0 1,451.0 2,269.1 1,5554 -18.7 7.2
<FE Ak 1,412.2 7,058.0 1,1304 6,818.4 -20.0 -34
o F 451.8 1,804.2 168.1 935.6 -62.8 -48.1
X s= 241.6 1,892.3 422.3 2,747.6 74.8 45.2
S22 1522 2,038.5 165.8 16223 8.9 -204
rapag— 20.1 109.2 6.3 268.6 -68.4 146.0
7| E} 546.6 1,213.8 367.9 1,244.3 -32.7 25
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6 20141 9% [ff Ej2 SLAMAE LY
2013.1.1~9.30 2014.1.1~9.30 ZUHE (%)
T g
= (=) FHHEH =) =H(E) FH(H=) =Y =N

M ON 100,049.0 216,092.8 91,630.3 168,309.0 -84 -22.1
<A M 2,556.9 7,273.0 2,331,3 5419.1 -8.8 -25.5
MA= 211.0 2,589.3 955.6 24764 3529 -4.36
FARDN| 36.1 151.8 75.4 2445 109.0 61.1
olAt=E 138 728.2 16.2 402.1 175 -44.5
kel e B 0.5 6.6 10.3 65.0 2,087.5 888.9
A= 290.6 1,425.8 3271 910.2 12.53 -36.16
HAN= 0.5 2.0 0 0 -100 -100
SR 27| 912 810.1 648.0 5353 -29.0 -34.0
Iass 993.0 928.0 188.5 219.0 -81.0 -76.4
MEIEALS 994 631.3 1104 566.8 11.1 —-10.2
<7} 3> 18,182.8 39,515.7 23,377.1 52,261.0 28.57 323
H = 739.6 1,832.1 1,028.3 24149 39.0 31.8
AR 286.1 652.2 358.0 1,069,2 25.1 63.9
= B 4794 876.9 1,292.2 2,699.9 169.7 2079
NipNE= 412.7 1,976.5 510.9 5,405.1 23.8 173.5
Ax= 36.3 4254 7224 3,573.7 1,889.4 740.0
L= 94.1 1644 11.0 19.9 —88.3 —87.9
=N =S 1,350.3 1,086.9 3251 833.3 -75.9 -23.3
< M> 79,309.4 169,304.1 65,921.9 110,628.8 -16.9 -34.7
o & 73,328.6 136.690.9 58,601.2 79,341.1 -20.1 -42.0
AN=s= 1,499.0 2,288.3 2,746.3 3,835.2 83.2 67.6
]| B = 1,907.1 27,895.8 1,586.4 23,763.0 -16.8 -14.8
uz2t= 6.8 434 120.1 9944 1,657.9 2,190.2
7| E} 2,567.9 2,385.8 2,867.9 2,695.2 11.7 13.0
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7 | 2014 9% Cff LHC|OF SHMAME FEHS
2013.1.1~9.30 2014.1.1~9.30 S2HE(%)
T 2
=HE) H(HF) =HE) FHHES) =Y =N

PSS 22,2321 40,630.4 29,164.3 46,685.6 31.2 14.9
<A M> 1,153.2 1,523.7 424.5 1,128.6 -63.2 -26.0
=] 6.4 378 15.8 101.7 148.5 169.1
2 x| 0 0 0 0 0 0
olatE 0.1 5.2 16 100 | 11,1598 92.9
R 0 0 0 0 0 0
In|¥Sj= 1,137.8 1,091.1 381.6 446.5 -66.5 -59.1
HAF 0 0 0 0 0 0
=S¥l 0 0 0.4 96 0 0
ass 0.8 7.2 2.6 14.3 2245 98.5
At2IEAS 8.1 3824 224 546.5 178.0 42.9
<7} &> 21,056.7 39,001.2 28,703.6 45,297.0 36.3 16.1
o =2 2136 3,155.4 264.0 1,589.6 236 -49.6
AAE 108.2 1,088.0 103.5 7685 -4.4 -29.4
= B 253.0 499.9 2331 403.0 79 -19.4
IXLE 450 3884 57.1 552.8 27.0 423
Ax= 672.8 9,495.8 7487 10,716.7 11.3 129
ez 120.3 1,240.2 61.4 630.8 —49.0 -49.1
2r2 2914 516.3 374.5 1,190.5 285 130.6
< Abs 223 105.5 36.3 260.1 62.7 146.5
of 2 121 69.8 28.5 146.5 136.4 109.9
S poE=2=! 0.5 6.1 13 116 183.1 89.7
slx== 7.9 27.0 42 86.4 -47.0 219.6
%zt 0 0 13 13.0 0 0
7| E} 18 26 1.0 26 -48.0 24
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: 201414 9% Cf D|QEO} SHMAE $2HY
2013.1.1~9.30 2014.1.1~9.30 =28 (%)
T 2
=2H(E) FHHEE) =HE) FHHES) =Y =N
oA 3,034.4 41,892.8 3,520.7 31,825.9 16.0 -24.0
<A M> 911.7 36,969.7 810.6 25,7129 -11.1 -30.5
KA 2 14.8 774 3.6 48.0 -754 -38.1
2 % 0 0 0 0 0 0
olatE 2.5 834 21.9 116.1 784.0 39.1
R 0 0 0 0 0 0
i/ PNp=1 189.6 141.0 2427 150.2 28.0 6.6
HAF 0 0 0 0 0 0
=S¥l 16 133 2.5 235 62.6 76.8
ass 6.1 59.5 332 317.9 4436 4339
ARIE AR 697.2 36.6 506.6 25,057.3 -27.3 -31.5
<7} &> 2,074.4 4,578.9 2,673.7 5,660.0 28.9 23.6
o =2 261.7 808.5 307.9 1,001.7 17.6 23.9
AAE 46.8 181.2 103.0 384.0 120.0 1118
= =2 57.5 96.2 15.8 24.8 -72.5 -74.2
njyN3=1 82.2 318.8 84.7 457.2 3.1 434
Ax= 0 0 0 0 0 0
ez 94 81.6 6.4 64.9 -31.8 —-21.7
2r2 2121 532.2 152.4 403.6 -28.1 -24.2
<3 A> 483 344.1 36.4 453.1 -24.6 317
of 2 2.0 16.5 0.1 0.2 -96.0 -99.0
S poE=2=! 0.6 3.9 42 27.7 562.1 603.0
=t 117 152.8 21.1 3279 80.6 1145
2tzte 0 0 10.7 95.5 0 0
7| E} 34.0 170.8 0.4 1.9 -99.0 -99.9
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9 2014'3 9E [ 2fA ZSFAMAME FFJE
2013.1.1~9.30 2014.1.1~9.30 S2HE(%)
T 2
=ZHE) (HE) =2 E) FHHE) =2 =

PSS 461.2 1,069.9 286.9 1,542.8 -37.8 442
<Al M> 100.7 108.7 324 143.0 -67.8 316
=] 0.2 1.8 17.9 957 | 75438 | 53386
2 x| 0 0 0 0 0 0
olatE 0.4 49.1 0.3 40.5 -35.2 -17.6
R 0 0 0 0 0 0
In|¥Sj= 40 6.0 0 0 -100 -100
HAF 0 0 0 0 0 0
B X| 27| 0 0 0 0 0 0
asga 96.0 51.8 0 0 -100 -100
ARIE AR 0 0 14.2 6.9 0 0
<7} &> 3117 935.5 249.2 1,322.2 -20.0 41.3
o =2 7.2 89.2 56.4 4772 680.7 4347
ArE 16 84 51.4 3336 | 3,1434| 38790
= B2 42.2 75.5 17.9 41.7 -57.7 -44.8
IXLE 0.8 5.6 6.1 318 678.3 471.6
Hx= 0 0 0 0 0 0
L=z 0 0 0 0 0 0
=h{E=S 148.7 569.0 102.6 2741 -31.0 -51.8
< Abs 48.8 25.8 5.3 77.5 -89.1 201.0
of 2 48.6 15.0 2.6 13.1 -94.6 -12.5
AN =2 0 0 0.01 0.6 0 0
slx== 0.3 10.8 2.5 55.4 811.9 4141
%zt 0 0 0.2 8.5 0 0
7| E} 0 0 0 0 0 0
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10 | 20149 98 Of BRL0| 5+444F 50
2013.1.1~9.30 2014.1.1~9.30 S2HE(%)
T 2
=ZHE) FHEE) =2 E) FHHE) =2 =

PSS 268.2 541.3 308.8 409.1 15.1 244
<Al M> 2.7 3.2 963.0 8.2 -64.3 151.9
=] 0 0 960 8.1 0 0
2 x| 0 0 0 0 0 0
olAtE 0 0 0 0
R 0 0 0 0 0 0
In|¥Sj= 2.7 3.2 0 0 -100 -100
HAF 0 0 0 0 0 0
=S¥l 0 0 0 0 0 0
tesR® 0 0 0 0 0 0
AR RS 0 0 0.003 0.04 0 0
<7} &> 265.5 535.7 307.3 380.8 15.7 -28.9
o =2 11.2 44.2 8.5 345 -24.0 -22.0
AAE 0 0 0 0 0 0
= B 0 0 2.0 9.8 0 0
IXLE 117 107.7 12.4 129.9 5.5 20.6
Hx= 0 0 0 0 0 0
L=z 0 0 0 0 0 0
=h{E=S 0.001 0.1 89.9 67.3 | 99887889 | 53,316.7
< Abs 0.04 24 0.6 201 | 1,473.0 7515
of 2 0 0 0 0 0 0
AN =2 0 0 0.5 14.3 0 0
slx== 0.04 24 0.08 5.8 139.2 146.3
2zt 0 0 0 0 0 0
7| E} 0 0 0.01 0.01 0 0
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